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QUESTION 1

What is the correct sequence of the BGP route selection process?

A. local preference, AS path, origin, MED, EBGP over IBGP, IGP metric cost, peer ID
B. local preference, AS path, MED, origin, EBGP over IBGP, IGP metric cost, peer ID
C. local preference, AS path, origin, MED, IGP metric cost, EBGP over IBGP, peer ID
D. local preference, origin, AS path, MED, EBGP over IBGP, IGP metric cost, peer ID

Correct Answer: A

QUESTION 2

Which two BGP message types are valid? (Choose two.)
A. refresh

B. acknowledge

C. keepalive

D. withdraw

Correct Answer: AC

QUESTION 3

When does a root-protected port transition back to the forwarding state?
A. It does not transition back.

B. It transitions after 20 seconds.

C. It transitions when cleared by the operator.

D. It transitions when superior BPDUs are no longer received.

Correct Answer: D

QUESTION 4

You have an EX Series switch. You want to provide inter-VLAN routing between VLAN A and VLAN B. Which two steps
must you perform? (Choose two.)

A. Assign a VLAN ID to the Layer 3 VLAN interface.
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B. Assign at least one Layer 3 address to each VLAN.
C. Assign interfaces configured as family Ethernet-switching to VLAN A and VLAN B.
D. Assign interfaces configured as family inet to VLAN A and VLAN B.

Correct Answer: BC

QUESTION 5

VLANSs provide separation for which type of domains?
A. collision domains

B. multicast domains

C. broadcast domains

D. virtual domains

Correct Answer: C
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